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Time : 3 hours 	 Maximum Marks : 100 

Note : All questions of section-A arc compulsory. In Sections-B and C, give answers. as per 

instructions given. 

SECTION - A 

	

1. 	Fill in the blanks. 	 5 
(a) Light year is the unit of 

(b) The study of interactions of organisms with their environment is called 

(c) Excessive nourishment leading to loss of life in stagnant water is called 	 

(d) The process by which green plants produce their .-,wn food is called 	 

(e) The range of electro - magnetic radiations to which our eyes are sensitive is 

	

2. 	State if the following statements are true (T) or false (F). 	 5 
(a) Splitting of nucleus into two parts is called fusion. 

(b) The theory "Origin of species" was proposed by Lamarck. 

(c) The loudness of noise is measured in Hertz. 

(d) Hormones are secretions of ductless glands. 

(e) Man can occupy more than one trophic level. 

	

3. 	Give short answers for the following questions (in not more than 50 words). 	 10 
(a) Give any two roles of communication in promoting education. 

(b) Oceans are known as the largest and thickest ecosystems. Explain briefly. 

(c) Role of radio isotopes in dating the past. 

(d) Draw a well - labelled diagram of a neuron. 

(e) Major contribution of the following scientists : 

(i) Galileo Galilei  

(ii) C.V. Raman 
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SECTION - B 

Answer any eight questions. Limit your answer to 100 words for each question. 

4. Differentiate between the renewable and non - renewable resources of energy. 	 5 

5. What are the conditions that determine whether the fruits of science are used for human 	5 
good or for the destructive purposes ? 

6. Write the major factors which were responsible for the decline of Bronze Age civilization. 	5 

7. What developments took place in the field of astronomy in medieval India ? 	 5 

8. Write any five features of planet Jupiter. 	 5 

9. List any five advantages of using nuclear energy to fulfill our energy needs. 	 5 

10. What is meant by a balanced diet ? suggest the composition of a balanced diet needed 	5 
by an adult working man. 

11. "Hypotheses are accepted as 'laws' only if they are supported by a great deal of 	5 
experimental evidence". Explain by giving a suitable example. 

12. Give different factors for aging. How we can slow down this process. 

13. With the help of an example, explain various aspects of cognitive learning. 
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SECTION - C 

Answer anq four questions. 	Limit your answer upto 200 words for each question. 

14.  Discuss the impact of technology on environment in present day situations. 1 0 

15.  Describe the developments in science and technology in India, from the fourth century 
to the seventh century A.D. 

10 

16.  Describe the impact of freedom movement on the developments in science in pre - 
independence India. 

10 

17.  Fxplain the theory of chemical evolution and give its scientific basis. 10 

18.  Give the different types of agrotechniques used for increasing food production in our 
country. 

10 

19.  Describe in detail the problems faced by any country while importing technology. 10 
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